Bud

. The constituent 4
: Eatmm
¥ Was se

A, unde
"the Indig,, Independence Act 1947

e Al
Clunder the g: S0lution of the provisional Government

D. By the Indj abinet pigsion plan 1946

AN National Congress

Who was Popularly
Al :r'n"{.'}l'hi':_f,.I

B. C'hElI‘n.g Fd]'li
Minto o
o =5 =

B Rﬂﬂd i_ng

h-l‘ﬂ“"l'l as father of communal representation in India?

h S

3. The declaratio B -
" on International Human Rights wasanade during theyear

A. December 10-194¢
B. December 10,1047
L December 10. 1948
D. December 10.1949

%. In which case did the SUpreme court hold that the person who was arrested, should

be produced in front of court before 24 hours?
A. Jogindar Kumar v« ﬁtgte of Utta_r Pradesh (1994)
@.&.K. Gopalan Vs State ofMadras (1950) »—
C. Abdul Samarth Vs State of Uttar Pradesh (1962
D. All the above

On December L1, 1946 the constituent Assembly elected the following person as its
permanent President.:

A. ‘Dr. B R Ambedkar
l13, Dﬁpﬂfﬁtﬂam Prasad

C. _l{.M;}Munstﬂ

D. Jawaharlal Nehru

Which of the following features was borrowed by the framers of the Constitution fror

.S constitution?
A. Fundamental rights
B. Removal of Judges of the Supreme Court
C. Judicial Review
@. All the above




7. The-constitation of India describes India 8% ..
A, A Federation of Siales and Uﬁiﬂﬂ-ﬁ:‘ﬂmn
B. Quasi - federal
A% A Union of States
A, partly unitary and partly federal
C,EJ Which article deals with rights of citizenship of certain Migrants from Pakistan®
E A, Article ©
B. Article 7
C. Article 8
D. Article 8
="
9. The Directive principles of State policy &€ contained in
A Part Il of the constitution
@ Purt IV of the constitution
C. Schedule VII of the constitution
0. All the above

10, Which schedule deals with territories of 28 statéSgand 7 Union territories?
A. First schedule —

B. Second schedule

. Third schedule
. Fourth schedule
11. Special provisions for t%traﬁnn of scheduled areas are given in which

¢ ! # 2 E of =
g Er L :F:-I a‘ b v &f-;i'.:-.ﬂ": =
D. 4 ‘ s
A T
5

122, ian of National gmergency ceascs o operate unless Le:ip]:nrl;m.w;:l:i by the
L with in

AL Bne month
- B. Two months

Three months
Six months .



13. The election COMmisgioy, o
AA Etﬂtutury bﬂﬂ-i.am :
5+ & constitutiony 16 o
Ei=Nether Constitutipnal nor statutory basis
D. A legal basig only because created by Parliament

14. Which of the fﬂ]lﬂwmg State

adapted four-tier system in Panchayat raj?
A, West Benga|

TEIHHEE_[‘]E
C. Andhrg Pradegh
D. Assam
15. By which constitutiona] Amendment Goa is formed as 25 i
A. 56 : '
Booit
C. 58 \

s @
@E;;rhe present chief minister of Tripura

(A) Manik Saha

B. Bhagwant Mann
C. Biplab Kumar De

19, Cauvery calling project is aimed at
A. Cleaning of Cauvery River |
B. Replenishing Cauvery River by planting SEpiinga
C. A place in Earﬂﬂlﬂk?. for tourism
P.. % pmjgl:t for improving ﬁquanulmm

5.



on
20. The recent visit of Russian President 10 Indif

A. December 4, 2021
R. December 5, 2021
C. December 6, 2021

[ December 7, 2021
nﬂF’"‘ forest area?

31. As per forest report-2021, which state his |
/% Madhya Pradesh -~
B Mizoram
C. Assam
. Kammataka

33 Milan-2022 was recently held in which clty?

A. Bombay
B, Calcutta
¢. Chennai \

@. Visakhapatnam

23 Indin eccupies which place in defense €
A, 1w
H,_ Em!
C. 3¢
D, 4

24, “Yudh Abhvas™ (Militag§® EX 1-2021 was held between which two countries

of world Aid's day-20217?
Phequalities - End AIDS

% gis]n e Sﬂhdﬂntj’ - Shared I‘Esﬁﬂﬂﬂibﬂit‘j’

. Communities make the difference

D. None of the above

25, Mallanna Sagar was inaugurated by Sri K. Chandra Sekhara Rao, Chief Minister of

Telangana on which da:/
A. February-26

B. February-27
C. February-28
D. Februnry-24



17. Recently which twg Citien weare mﬁnunﬂﬁ‘t as tree cities of the world for 2021 by
United Nations Foogd gnqg Agriculture Organization (FAQ)?

A. Hyderabag, Secunderabad
Mwumhﬂd. Mumbai ~—

C. Delhi, Mumbg
D. Bangalore, Mumbai

28. 39 High Court Chief Jystices Summit held in which city?

A, Mumbai
B. Calcutta

C. Hyderabad 0
b. ek q
Which committee was appointed for probing on "F‘E%O
A. Justice RV, Ravindran committee
B. Justice Rangarajam committiee
C. Justice P.K. Mohanthi commit

=

D. Justice Chandrachud committee

30. Article 124A discuss with
A. Law making powers esident
B. Offences against the

'the Supreme Court

31 r Narendra Modi inaugurated “Pradhanamantri

32 OnDecember 11 India tested indigenously designed SANT missile at

A. Balasore

B. Chandipur
Pokhram

D. Tiruvanthapuram



33. In which district of Telangana e-voting P'-"ngmmﬂ R Rl cumpieteds
A. Karimnagar
B. Khammam"
C. Warangal
D. Adilabad

34, According to United Nations World Tumiﬂm'wmn whi“fh of the following was
the best tourist village from India?
@ Bodhan
B. Ziro
C. Poovar
D. Araku

35. At wh1 h district Bipin Rawat Chopper crashed?
Nilgiris
E. Krishnagiri
C. Coimbatore
D. Dindigal

36. The Arts, Culture, and Traditions o a is @ fusion of the Telugu and
culture.

A. Budhism

B. Persian

37

S0 Qulh shah
Quli Qutb shah
8. ounder of Hyderabad City was
A, Mir Muhammad Sayyid

B. Abdullah Quth Shah

g_\ Muhammad Quli Qutb Shah
. Shah Abbas




39. Pembarthi located ip W . __ : : | .
. _+ district of Telangana is well-known for which of the
Gllawing? arangal distric :

A. Cement industrieg

B. Iron ore
@? Metal Crafts

D. Paintings

40. Durning which of the following Telugu month, Bonalu festival is celebrated in
Telangana?

A. Fhaalgunamuy
B. Maakhamu

(?/” Aashaadhamu 0

41. The word ‘Sathyameva Jayate’ is taken from

A. Yajur Veda \
B. Atharva Veda
(* €/ Mundaka Upanishad

D. Sam Veda

42, Who wrote the “Buddha Charit

(R Buddhaghosha
B. Ashvaghoshi

€. Nagarjuna
D, Panini

43, In Which year i
A 1826

=i Akbar build Buland Darwaja?

sent his son Mahendra to Sinhala to Spread
A, Hinduism

f_i._':.‘::.' Buddhism

C. Jainism

D, Bhapgavald

i



45,

46,

47.

45,

is celebrated
In which of the following state Chapchar Kut is

A, Mizoram
B. Meghalaya
C. Nagaland
D. Manipur

Which part of India receives rainfall from both tHe South-West and North-West
muns?ﬂnﬂ?
( A/ Tamilnadu
B. Odisha
C. Lakshadweep Islands

D. Andaman and Nicobar Islands Q
Flamingo Festival is organised in which State?

A. Telangana \

B. Karnataka_~"

C. Nagaland @

D. Andhra Pradesh

Traditional buffalo race “Kambal ted to which state?

Andhra Pradesh

B. Tamil Nadu .-
Karnataka —

Kerala

>

9 0

10



sl Choose the mﬂﬂﬂinga.uf the fulla'm"irlE homonyIns.
Stalk - Stajy,
A, A Part of a Plant -~ Tg Harass Someone
B. Stem -To Finance
C. Heaviness _ Druwa_v
D. Follow- T4 Worship
52.

Choose the option that is the most opposite in the meaning to the underlined word
in the following sentepce.

e
The young business executive was very perspicacious. 0
A. Imprudent
B. Clever
C. Humble
D. Astute

53. Cheoose the synonym of the underlined wo
given below:

in @xﬁm from the altermatives

He is a good looking but insipid young man.
A. Arrogant
B. Unscrupulous
C. Harmful
D. Uninteresting

C-'ﬁ{f:rum the given altern

letters of the given

ives, select the word which cannot be formed using the

following question, choose one word which can be formed from the letiers of
en word:
RECOMMENDATION

A. MEDIATE

B. MEDICINE

C. REMINDER

b COMMUNICATE 2%

11



a8,

o7

a5,

60.

61.

. The following sentence is divided and marked as A, B, Cand

wven below:
Choose the incorrectly spelt word from the pptions given below

Occasion br o
B. Commission
C. Accommodate
D. Occurred

The following sentence is divided and marked a8 A, _E‘ Z ‘mfﬂ D). One part may
contain an error and may not be acceptable in standard written communication.
Identify the part containing an error

Harsha, {A] / along with his brother Ashok (B) / and SiX senior Bank Officials, (C) /
were arrested (D)

contain an error-and may not be acceptable in standa tien
Identify the part containing an error.

Flanting trees (A) [ helps (B} / to prevents (C)

Choose the meaning of the phrasal verb given be
Bear through

to endure

1o support
Lo experieros
1o sustam

=R

Choose the meaning of the unge

ed idiom in the following gentence from the

h

the meaning of the underlined idiom in the following sentence from the
optio

Hﬂji'lf is quite at sea and does not know what coarse of action 15 to be taken in that
matier.

A, At ease
B. Displeased

12



2. Choose the correct g, Speech of the following sentence from the aptions given
below: et E

*Why are Mo ]Elﬁ?‘".anknd the Manager.
A. The Manager asked me why I was late.
B. [ asked the Manager why he was late.

C. The Manager to14 me 1o be late.

D: The Manager asked me why am | late.

63, Choose the correct Direct Speech of the following sentence from the options given

below:
The station master says that the train will be late.
A. The station master said, “The train is late”.
B, The station master says, “The train would be late”,
., The Staton master 5ays, "The train will he late®.

D. The station master said, “The train will be late.”

Choose an appropriate Active Voice for the follows <

A late is being made by the boy. @

A. The makes a kite, '
B. The boy is making a kite.

C. The boy is flying a kite.
[}, The boy has been maki

65, Choose an appropriate
Why did your brother

Q

M ce three old men set out on a Jg]_:_m_e}r together: @m them was Iflr;!d.
= secofid was aphilosopher and the third was barber. At nightfall they decided thai
whe1 b e T L Ahe s

cnch one Bf them should kecp a vigl turn. The barbggywas to keep watch first of all, the
ohilosobfier after that and the bald man last of all; So, the philosopher and the hald

marn went to sieep and the barberwas an watch. For same time he kept awake Iil'-u. ]I: 1r::
end, he felt tired of it and he thought of spme Fliwmi?n SR othenyise it Wl -ril_:“- I.J}.ﬂ'le
him to pass time. Then he took out the @fmm his box and shoved I”?."' J”L;I;I:" o
qphilosopher. At the fixed time he woke up the philosopher and went o "'-"I‘J-"rl“ =
I;I'ﬁl_ugsc-paer pot up and felt His head all over, he was startled and said /1t “HPHSE '

) tched feflow has awakened the bald man
my turn but this wre 13



6. Why did the philosopher get up?
A. He realized that his head was'hﬂiﬂﬂﬁshawd o
B. It was his turn to keep watch
C. He was awakened by the barber
D. He had a bad dream

67. Who went to sleep first?
A. The philosopher and the barber

(EDThe barber and the bald man

C. The bald man and the philosopher
D. The barber

68. Why did the barber shave off the head of the philosopher?
A. The harber was jealous of the philosopher
B. The barber wanted to indulge in some fun

{:ﬁ}ﬂm barber wanted the philosopher to k.-_-f:p arch
[. The barber was feeling drowsy

waich turn by tum?
A. Barber - bald man - phil

B. Bald man — philosopher - b

(D) Barber — philosopher - Bald

D. Bald man — barbet— pl

71 : atvdo a piece of work in 6 days and A alone can do it in 9 days. In how

iy Haye B alone can do it?
A 18 days

1 "EL" - ?:.r"rf I
B. ‘?'; d—ﬂ-}'ﬁ 1‘-\‘-', #ﬁ\rt.

14



72. Find the greatest Passible jan gth of scale that can be used to measure exactly the

following lengths of cloth 3m. 5m10cm and 12m90cm.
A. 300cm ;

@ 30cm

C.. 10eém
D 30m

73. The mean proportional hetween 8 and 225 15 & FV'}#
A. 9
B. 15 oﬁ‘ . ""é:
C. 45 e ’}7‘6
@ s 7 \}
@ achin is vounger than Rahul by 4 years. If their ages are in th 7
; respectively, then Sachin present age is
A, 16 years e A
B. 18 years ’

Y

L= —

C. 14 years e @zﬁ,ﬂ. e
D. 10 vears

75. A man sold two waiches for Rs Iﬂ{j ea
129 loss. Overall effect of the wk tran
A, 1.44% gain

A\ 4 !'I
1.44% loss 1% o
C. 1% gain L \ Ly
B 1':}-"0]&55.-

05

equal to the cost price of 4 pens then overall effect of

e =
oy % R o "
o¥ %E,; = H-:i o {ﬁ‘

/@Fﬂ  two numbers 15 25 and their difference is 13 then their product iS5
B ST O

A, 104
B, 114 @"" @
2 315
D. 3329



78. 2" = 64 then the value of n is

A2

B. 4

. 6 =
D 12 i o

79. If x=3+2y7 then the value of VZ - =is
ANy i
B. 2 “:-JLA.-
C. 2V2 :
D. 343

80. 5 out of 2250 parts of earth is Sulphur. The percentage of

Al
<.
D,

Sln l=eim gy
A
£,
Q

Bi. If A’s income is 50% more th come then how much percent is B's income

less than A's income? PT
AL 504 : i

5 b b( i 19 Beh

c. a3ly, R S
* ﬁ ] ﬂt"'"‘:
3
B

1[1}
83. Number of word i i
r ol words with or without meaning those can be formed by using all the
letters of the word DELHI, using egch letter exactly once

10 3G X Y

B. 25 OV X\ .
c.o0  wX° \?'}-‘}{1% Wffﬁ
(p. 120 e ng;“{ e i~ ‘iﬁ’f -

16 Fay Rs



Pis
I

a4. Mmsmg term in the 4.

'l
B. =

17

Bl

..-I-'I.lﬂ"
Illﬂ
"|‘-|-

BVENO in that codess

85. In a certain “‘E‘E“MEER is written ERMB{]EDE Which word will Sﬂn as

A. AUGUST

B. SEFTEMBER ﬂ _

C. OCTOBER Pﬂ”g
NOVEMBER

86, If eye s called @‘i‘lﬂné‘is.mﬂﬁ 'mn:iﬂ'l’
B
Al

EVE
B. mouth

nose

D, ear

7. 1T X is the brother of the s 's gon, ‘hﬂw 15 % related to Y2
A, Son
B. Brother

C. Cousin @
D. Gré

-—'—'



In the following questions, mﬁw‘-‘l‘ﬂ S e
triangle represents doctors, the C""'g?_!': rep

artists. lp
o
D7 vt
G2
i o D‘_
: nts doctors who are
85, Which numbered space in the diagrarm represen

89,

a0,

3 B

92.

: t

Artists?

tn & Ld b

AL

B.

C;
Which numbers represents artists who
T

A
®

.

D.

i a@h‘?
6
T
8

Which number represen tschﬂ are neither players nor doctors?
Al
(B2

Co3
0.
Which n

e

ents doctors who are neither players nor artists?

Which numbers represents players who are neither artists nor doctors?
Al 1.2
3.4 w7
BT
D. 7,8

18

pl

od on the diagram given below, where
- players and the rectangle represents



Aman h : | s,
93, as Rs 480 in the d:nﬂmmﬂﬂﬂﬂﬂnf oné-rupee nofes, five-rupee notes and

'fﬂﬂ'mnﬂﬂ Noteg l-n_. o ; ¥ . ¥
FARe ngm tes of each denomination is equal. What is the
total number of Notes ber of no 0

A 45 that he has? o \eo
B. 60 % ...‘
CEATS e
D. 90

94. Missing term in the follgwin
3C | 27D [9E
71 |21K [ 3M

4D (P1y | 7J Q
A 11E
(B! 286G 0
c. 351 \
D. 48F @ 44

a5, Wrﬂni term in the number series 196,

g table is

169,144, 1

101 o e ILH:'.. e O & = '{Fﬁ'-
s "'i EI:_ M

B2l 5 £ \ %E-‘-"I'

C. 169

A. Internet Browae
B. Application

%, Nibble
D. Word

98, CPU in a computer ﬂmndel; for:
| A. Computer Proccssing Unit
B. Control Processing Unit
C. Computer Peripheral Unit

@ Central Processing Lnit



99. Graphics that make programs and mﬁkﬁ_'ﬂaﬂﬂf accessible to the user in Windows is

called
A. Graphics System
@ Graphical User Interface
€. User Graphics System
D. Natural Graphic System

100. The icon with a minus sign [-] in Windows is used !9'“/
A Close the window
B. Reopen the window
C. Move the window to the required place
D, Minimize the window

101. The hardware unit required to connect a home computer et is

| Modem

. Wi-Fi \
C. Switch
D. Repeater
102. Sending data to the netwark se provider is known as
. ¥ Mndu]atim}"'f A

B Demodulation
C. Uplink
D). Downlink

103. Standard protocol f ernet surfing is o
A. ARPANE!

104 g HREE products, the Orel+X is used for

. Copy selected content intq memory
h Delete selected content P

C. Copy selected content 1 memory and delete it
D. Undo the recent operation

20



105,

106.

107.

LO8.

109,

Which apnlicas ... . _‘ v
A Mgp"-]‘::;? MS Office is used for audio visual presentations?

MS Eixcel

B. French
C. .Gt'l.‘ﬂ]ﬂn
D. Greek

The first COMPULErs werm programmed using 0@
A. Assembly lanpuage \
B. € Language
/G Machine Language
D Object Code _

Which of the bllowing Languages igtise

COMPULETS?

A. PERL
ed Lo connect mmpute'r_s with in a small area?

d for general purpase programs in early

B BASIC
C. FORTRAN
D, ALGOL

mission enables sharingof channel capacity all the time by both
hmaricating devices?
implex
B. Half Simplex
. Hall Duplex
D. Full Duplex

21



111, Ww is _ :
y be retrieved
i : that can o1 :
E',I 2 cnll@:r:tlzilm : mliﬂmm_‘;: :;If]data {hat can be manipulated or retrieved
.An organized collec L

B o i e that can be manipulated and retrieved

D. A backup storage where data can be saved

112. Which of the following is NOT a database mandgement system?
A. MS Excel | X
B. MS Access
(C/MySQL

D. IBM DB2

113, An RDBMS consists of
A, Collection of Records
B. Collection of Keys
CC Collection of Fields
@] Collection of Tables

114

115: Exploiting humamneel
::"’L, Hacking { .

11
A tool to map the nthvurka('/

B. A tool for Security auditing

C. An ant virus program for networks

D.'An adware detection and Prevention program

117, Which of the following
A. McAfee
B. Kaspersky

is NOT antivirus software?

22



118:

B. Keyboarg
(C/Network card
D. Pen li'ri'r.rg

119. The process through whick user data is stolen by illegitimate website that pretends
to be a legitimate website is T o g
A. Sniffing =~

C. Backdoor Entry

D. War Dialing
Sending message saying that the aceount is about to be sus %5 the card
details and PIN are disclosed immediately is the type of attack
¢ X Phishing |

B. Sniffing

s AKY
S
S

120,

23



